NITIN D. MEHTA

03CS1025

ASSIGNMENT-1

Grammar is:-

1)  S(AS
2)  S( b
3)  A(SA
4)  A(a

FIRST (A) = FIRST(S) = a, b
FOLLOW (A) = a, b
FOLLOW(S) = a, b, $
1(a) Grammar is ambiguous because the string babab can be derived by two left derivations 
S->AS->SAS->bAS->bSAS->bASAS->baSAS->babAS->babaS->babab
S->AS->SAS->bAS->baS->baAS->baSAS->babAS->babaS->babab

1(b) 

We introduce a dummy rule 

S’(S

LR (0) ITEMS

I0    S’(.S  ;  S(.AS  ; S(.b ; A(.SA  ;A(.a

I1    S’(S.  ;   A(S.A; A(.SA  ; A(.a  ;  S(.AS  ; S(.b
I2    S(A.S ; S(.AS ; S(.b  ; A(.SA ; A(.a

I3    S(b.

I4    A(a.

I5    A(SA. ; S(A.S ; S(.AS  ; S(.b ;  A(.SA ; A(.a ;
I6    A(S.A  ; A(.SA ; A(.a ; ;  S(.AS  ; S(.b

I7    S(AS.  ; A(S.A ; A(.SA ; A(.a ;  S(.AS  ; S(.b   
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1(c) 

        LR(1) ITEMS

I0    S’(.S,$  ;  S(.AS,$  ; S(.b,$  ; A(.SA,a/b  ;A(.a,a/b

I1    S’(S.,$ ; A(S.A,a/b  ; A(.SA,a/b  ;A(.a,a/b  ; S(.AS, a/b ;

       S(.b, a/b
I2    S(A.S,$ ; S(.AS,$ ; S(.b,$  ; A(.SA,a/b ; A(.a,a/b

I3    S(b.,$

I4    A(a., a/b

I5    A(SA.,a/b ; S(A.S, a/b ; S(.AS, a/b ; S(.b, a/b ; A(.SA,a/b;                    

       A(.a,a/b
I6    A(S.A,a/b  ; A(.SA,a/b  ;A(.a,a/b ; S(.AS, a/b ; S(.b, a/b

I7    S(b., a/b
I8    S(AS., $ ;  A(S.A, a/b ; A(.SA,a/b  ; A(.a,a/b ; S(.AS, a/b ;     

       S(.b, a/b
I9    S(AS., a/b ; A(S.A,a/b; A(.SA,a/b ; A(.a,a/b ; S(.AS, a/b ;          

       S(.b, a/b
I10 S  ( A.S,a/b ; S(.AS, a/b ; S(.b, a/b ; A(S.A,a/b; A(.SA,a/b
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1(d)
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